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Reading Future 
Change 3 Midterm (Units 1-8)
· Answer the questions.

1. What is the best word for the blank?

	This device is good at __________ movement.   


a. detecting

b. detect
c. detected

d. detects 
2. Which word does NOT correctly match with its meaning?

a. parade: people moving on a street for a special event
b. boil: to cook in hot oil
c. dark: not much light
d. messy: not clean
3. Which pair does NOT have the same relation as the sample?

	<Sample: big : huge>


a. raise : grow
b. during : while
c. terrific : negative
d. wealth : money
4. Which pair does NOT have the same relation as the sample?

	<Sample: fast : slow>


a. protect : attack
b. enemy : friend
c. harsh : difficult
d. isolate : join
5. Which word has the closest meaning to the underlined word?

	The baby penguin relies on its parents for food and shelter. 


a. needs

b. watches
c. borrows

d. learns
6. Choose the option that best fits for each blank.

	The scientists want to (A) ___________ animals, so they (B) ___________ October 4th to be World Animal Day.


       (A)
(B)

a. solve
maintain
b. protect
declared
c. miss
prepared

d. hunt
confused

7. What is the correct word for the blank?

	Lily is a ______________. She was in a terrible car accident last year and spent a long time in the hospital.


a. survivor 

b. balance
c. clover

d. tourist
8. What is the passage mainly about?

	New York’s popular street food is the hot dog. Many people say that Katz’s Deli has the best hot dogs in New York. People wait in long lines just to taste the hot dog. Katz’s Deli is located on the Lower East Side of Manhattan. They have been in business for a hundred years.


a. New York is famous for the hot dog.
b. People wait in long lines for hot dogs.
c. Katz’s Deli has been around for a long time.
d. The best hot dog in New York is at Katz’s Deli. 

9. Which is NOT true about the passage?

	Jade is a green stone that can be worn as jewelry or used in art. In China, people believe that jade brings good luck. The Chinese word for “jade” is similar to the Chinese word for “king.” Some jade is worth more than gold. 


a. The Chinese believe that jade is good luck.
b. The Chinese words for “jade” and “king” are similar.
c. Jade is used in art pieces.
d. Jade is worth less than gold.
10. When is “This hour” in the passage?

	Earth Hour is a day in the month of March when people turn off their lights from 8:30 to 9:30 p.m. This hour is dedicated to protecting the Earth. It brings millions of people together from around the world.


a. in the morning
b. 8:30 to 9:30 p.m.
c. at lunch
d. one day
11. Choose the correct forms.

	Guests at Greek weddings (A) (celebrate / celebrating) by (B) (break / breaking) plates on the ground. 


          (A)                    
    (B)

a. celebrate

break
b. celebrate

breaking
c. celebrating

break
d. celebrating

breaking
12. Choose which is NOT correct.

	Have you seen a monarch butterfly 
(A) fry in the sky? Like birds, the monarch butterfly (B) migrate to get away from the (C) harsh winter. They don’t like living in cold (D) conditions.


a. (A)


b. (B) 

c. (C)


d. (D)

13. What is most appropriate for the blank?

	Giraffes have long necks to eat from tall trees, but how do they protect themselves? A(n) __________________ is its long legs. It can powerfully kick enemies with its long leg. It is so strong that it can kill a lion.


a. giraffe’s defense
b. animal’s claws
c. balance 
d. throw
14. Read the passage and complete the Wrap Up chart below.

	There are many kinds of singing insects. Grasshoppers are green or brown. They sing by rubbing their legs against their wings like a violin. Cicadas are the loudest singing insects. They sing by moving their wings.


	Grasshopper
	Cicada

	Green or brown

	

	
	Sing by moving wings


15. Read the passage and complete the cause and effect chart below.

	In the winter, bears need to survive without food. So they go into a deep sleep. When they go in a deep sleep, their body temperature drops. This is important because they use less energy when they have a low body temperature. 


	Cause 
	Effect

	Goes in a deep sleep
	

	
	Use less energy
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